AD A7 A

® .
The child of a

Today we will 7”va learn 31 97 of Mesechte Yevamos.

Some of the key topics and concepts that we will learn ]EWISH FATHER
NNdWN N
02010 TN |7

about include:

The child of a Jewish father

anown n

D221 N7 I

From a mother who is either a 1v15 7MW or a non-Jew,
has the Halachic status of the mother, a non-Jew.

If the mother is a ">87w the child is a Yx7w», if the mother
1S an 0’2210 N72), the child is an o225 721.

]fzf]\l?i;;?:‘_ﬂ(l)e]{siswr of his Yevamah who is bound to him n]n R n1n N

M5 NN, the sister of whom he gave Chalitzah.

Are both 13137971 T7OR, because they resemble ynwR Mnx 1 nx1 5n 1 n P’ Pt

RO 13277 315N
The Issur for a Kohen to marry a woman who performed
. Chalitzah is merely 13297n.

nNIoN

The Tssur /or a Kohen
o marry & >/

X7 12277
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So let's review.....

The Gemara continues the discussion of 1mnR Nw:

1T 29201 217 learns from the words a8 nwR N3;

72 PIRS MR B VWD

07221 N7 AROWN IMARS VIO

72 PARY MWR PRY

In a case of PONN; 12 1MNR, she is considered 1mnxr only if
she was born from a woman whom the father COULD
have married Halachically, which would include even
MR *27m, which are w1 1n2won -

But she’s not considered ymnx if she’s from a

07201 N7 AN9W, in whom PwiTR 112 "won RO,

The Gemara adds that she would also be considered 1mnx
if she is from mm73°27n. Although, pwiTp 1n2 won R5?
However,

ROYH PUTTR N2 won

They are only ox to him, but 9m» to marry others.
However,

0’2912 N7 INOW

RPOYY POITR 112 WON RS

They cannot marry any Jew.

The Gemara goes on to elaborate that this Halachah that a
sister born from 2515 N7 NOW is not considered 1MNX
is actually derived from two separate Psukim:

According to both 13129 7m0 *172 01 )29,

now is derived from the Posuk

PITIRS AN T IR

Which speaks of a n°1v15 7now married to an 12 72;
The children retain the status of the mother the fnow, and
are not >R’ - Therefore, she is not considered 1mnx.
However, regarding 02,5 n721, there is a Machlokes:
AT 29201 17 derives it from

IR NWR N1 as explained earlier

The 327 derive it from the following:

The Torah forbids intermarriage by saying;

D2 JnNNN R

125 10N RY N2

7325 Mpn RS N

The next Posuk says;

MARD JI2 DR PO 7D

As Rashi explains:

Since the word 7o is 731 b, it must be referring to the
case of 1115 10N RS N3, where a Jewish woman married a
non-Jew, and the Torah calls the offspring 713, your son.
This teaches us;

7321 ORIWD 112

73219 D221 DTN 1 R P32 PRI

732 RONR

If the mother is a 587w the child is a Y5R7w», if the mother
is an 01215 N7, the child is an 017> 72,

Therefore, a sister born from an ©°2515 N72Y is not
considered ymnx.
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. Zugt di Mishnah;
OPAR IWN AR WTPY 1D 3’)/@‘/
WP N TR DT PRI
}rfb o 03 e one of o sisters. Roche] DYAR N2 DAR ©TDPY
uvain was Mekadesh one of two sisters, Rochel or
Leah, and it was later forgotten which one, he must give a w-pp inm N V'n" rx‘
Gett to both of them. He cannot marry either one, because
each is possibly 'nwx mnR, and remains MOR even after “‘7 ah) “‘7 ah znu

giving a Gett to one of them.
Ifhe did not give a Gett, and subsequently
nn
Ruvain dies without children,
TR IR
And he has only one surviving brother, Shimon;
InNserA@ly
Shimon must perform Chalitzah with both of them,
because each one is possibly obligated in nx'5m o2 as
Ruvain’s widow.
Rashi points out from the Gemara: He cannot marr either one,
He cannot first be Meyabem one of them, for example because each iy /MM%/ INOE _nInt
Rochel, because perhaps Leah is the true Yevamah, and
Rochel is mox to him as 1npipt minK, the sister of his
Yevamah.
Even after giving Chalitzah to one of them, for example
Rochel, he cannot marry Leah, because perhaps Rochel ﬂns ns 151 nn
was indeed the true Yevamah, and Leah is 770R to him as
. M50 NN, the sister of whom he gave Chalitzah.
Both npipy mnrk AND inzion minR are 132770 MOR because
they resemble InWN MnNX.

allv R
D271 TARI PN TR
If Ruvain had two surviving brothers, Shimon and Levi,

one of them, for example Shimon must first give Chalit- 5
zah to Rochel, and only then, may Levi marry Leah. ﬂ’lw 1 ”n

He cannot first be Meyabem - or both certainly cannot be s

Meyabem - because the first one to be Meyabem is n:“?: ﬂnx‘ ? 1” ﬂnx
possibly taking inpipt mnx. However, after Chalitzah of
one, the 771 is removed, and the other one is no longer
Mt MNR. She’s obviously not 1n®15n MR, because it

was his brother Shimon - not he, Levi - who performed
Chlitzah.

nger
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The Mishnah however rules;

1OIDNIDTPR

DT PRIIID PR

If they did not ask, and Shimon and Levy married Rochel
and Leah respectively, we do not compel them to divorce
them.

As Rashi explains:

-1- Each brother can claim that he was Meyabem the true
Yevamah.

-2- Even if at the time when Shimon took Rochel, she was
PPt MNR, however, after Levi took Leah there is no
longer a Zikah, and Rochel is no longer mnpipt mnx.
Therefore, they may both stay.

The Mishnah continues:

DPIAR DY IVTPY DI

VTPIORYTPIPR M

WP IR VT IR

PON IV I

POV M N

If two unrelated men - for example, Ruvain and Gershon
were each Mekadesh one of two sisters, Rochel and Leah,
and it was later forgotten which man was Mekadesh

which woman, each man must give a Gett to both of them.

Neither man can marry either woman, because each is
possibly ynwR MnR.

DafHachaim.org
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We do not compel them to divorce

A Rashic explaing:
1 2

Each brother can claim After Levi took Leah
that he was Meyabem  there is no longer a Zikah,
the true Yevamah and Rochel is no longer
MPPT MR
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. If they did not give Gittin, and subsequently
als)
Ruvain and Gershon died without children,

NR T IR D ifala)
And they each have only one surviving brother, Shimon
AR Mo N Mo

and Kehas;

IS YN m

RS Yo

Shimon and Kehas must both perform Chalitzah with
both Yevamos, because each one is obligated in 7x°5m o
from either Ruvain or Gershon. ’g?

NRY N9

RS pon
RS P

DIw M TR MY

If Gershon has only one surviving brother, Kehas, and
Ruvain has two surviving brothers, Shimon and Levi,
nwb Yon Trn )

DM TARI PO TAR O30 =L nr‘” NN nts
Kehas must first give Chalitzah to both Yevamos.

As in the previous case, Rashi explains, he cannot be
Meyabem one of them;

MPIRT MNR D1ON 51 DTP RS

AR50 AR DwN 73751 RS R

Also, Kehas must first release her from his it because of
Gershon, before one of Ruvain’s brothers can be

Meyabem.
Then, Shimon must first give Chalitzah to Rochel, and
only then, may Levi marry Leah. QUM
As before, Levi cannot first be Meyabem - or both cannot
be Meyabem - because the first one to be Meyabem is Ps‘n AN
possibly taking inpipt mnx. However, after Chalitzah of Q3™ Ny
one, the 71 is removed, and the other one is no longer
PP NN,

DI RTP
01N TP ]"&’Rm I’R
DTP PRIID PR
If they did not ask, and Shimon and Levy married Rochel Q9%

and Leah respectively, we do not compel them to divorce

' them.
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If both men have two brothers:

Ruvain has Shimon and Levi, and Gershon has Khas and
Merari;

anRS Yo m Sw rnr

ARY Y9I 70 5w PR

Shimon and Kehas must first give Chalitzah to Rochel
and Leah respectively, and only then,

5w NN D17 71 5V PR

5w NN D271 5w PR

Levi may marry Leah, and Merari may marry Rochel,
because they are no longer inpipt minx.

However,

X5 0w WP

DIWN I RY

D271 TMRI YOI TR ROR

If both brothers of one Y3, for example, Shimon and Levi
did Chalitzah with both Y evamos, the two brothers of the
other 53, Kehas and Merari cannot both be Meyabem,
because the first one is 1Pt MnR. Rather, as before, only
after Kehas first gives Chalitzah to Rochel, can Merari
marry Leah, or vice versa.

DTN PRIZIN PRIDIN WTP

If they did not ask, and Kehas and Merari married Rochel
and Leah, we do not compel them to divorce them.
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The Gemara asks from the Mishnah at the beginning of
the third Perek:

PORAVIIR

DYARHYw DRIVI DAN DI

DYANRA DR DRIWITINM

There are four brothers, 7777 "> PYHW jIRT.

Two of them, 7771 "5, married two sisters, TR 5r,

and later died childless.

The two mn2 now fall for 0a» to pyPw IR,

MmN R MEHN ORI

Each 02 may only perform nx'>m, and not o117, with any
one of the mn2, as each one is NPT MNR, the sister of a
72 bound to him for oa».

IN'XY YOI TP DR

If they did not ask, and Ruvain and Shimon married
Rochel and Leah, we DO compel them to divorce them.
This is a two-part question:

-1- That Mishnah rules

I RO MsHn

Both must perform Chalitzah

While our Mishnah rules

D271 TARI PO TR

-2- That Mishnah rules

INYRD 1DIN MWTP ORI

They must divorce.

While our Mishnah rules

DT PRIIID PR I0IN TP

They can stay

The Gemara answers:

There Rochel and Leah are both a 527 '8 7. Therefore,
since each was initially D121 110R because of either minx
MY, or because of P Mzn S35 MOR, they remain MO
because of men PP RSW MR NWR.

DafHachaim.org
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: :
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: :

NRY N9
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However, here each is only a 2’ poo. Therefore, they
can stay, because,

7Y RPIND NP PTTIRTM TN pa)

-1- Each brother can claim that he was Meyabem the true
Yevamah.

-2- And if she is not the Y evamah, she’s no longer mnx
1t after the Yibum of the other - And she is 9mn to
stay, because according to this 73, she was never nx nwR.

The Gemara points out that in all the above cases of poo,

the nx1>n may marry a 12, because

N7 13277 1I%15N

1327172 190 RS 73151 o)

The Issur for a Kohen to marry a woman who performed

Chalitzah is merely 32771 - because it's similar to a nwym
- and the Chachamim did not prohibit a nx1>n poo.

Although a Braisa states that it is derived from the Posuk;
MR RY TORN I TR

From the extra word nwxi?

The Gemara answers;

RI7 RPHY2 RNOHOR R
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The Yemara point'y out...
In all the above cases of pyv,
the n¥15n may marry ajnd
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‘ The Gemara, right after the Mishnah, also pointed out that
NYNR WD DR UTP
Does not depend on the Shaila in pwi7p noon whether
ARIZ PIOD PRY POITR
POYTR I
Whether Kiddushin of which the marriage cannot be

The gemam//bow#e/ out-..
PR VN NNR WP

consummated, is a valid Kiddushin, because we are does not depend on the Shaila
N pPUITP NIUN:

NvaY D PR PR

speaking of a case of

129V fUDl'TI 1ID17WD

At the time of Kiddushin he knew which sister he was
Mekadesh, and the Kiddushin was valid, but it was later
forgotten, and we therefore have a pov. "?I’w"l'lp hnt

1701NWI
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